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I8 Y97-97 giel GUS] 7 [q97f5id 8 - @Ue &, &, M, 909 & |
GUE & 4 Jv7 G&T 1 & 12 7% Tglascdid (MCQ) TR & Uah-Uek 3% & J97 & |

(iv) TUE W H ¥o7 &7 13 T 18 % &Tg-3F07 (SA) IBR & F1-g1 37H & J97 8 |
Y% J97 1 3T 50 Ieg5] G 3719 787 F171 =iz |
(v) WUE T Y 97 G&I7 19 T 23 T 19-371T (LA) IR 3 TR-TR 3H & J97 8 |
JiF J97 H7 3¢ 100 551 G 37fereh 787 5147 =iz |
(vi) @B T H T97 GIT 24 T 26 T TR, Higd T THITT-STIRT I97 & |
(vii) TUE & H 97 G&IT 27 @ 30 7% F9-37117 (LA) IR & Bg-Og APl & J97 8 |
Y% Y97 &1 3T 170 1551 G 371 787 51771 =30 |
(viii) F97-97 § HI3 TTH 99T 781 & | TET F8 Fo71 7 aRe% [T F J@e 177
T 8 | 37§99 § @ acT ek 31 Y97 H7 I 7T 7w |
(ix) &% AR, Ted% @S d Fo4) & GI9, Tl AEvTH 8, 79 5T 70 § |
Wus <h
o7 G&T 1 & 12 7% Tglasedid (MCQ) J#R & Uah-Ud 3% & Y97 5 |/ 12x1=12
1. fafafea @ 9 sH-H o fomeg 3 9w & yRdg 99 9 it g9 & faayg
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() W (d) wEfeRR
2. fafafea @ @ s famvamd aemr smam o Hifa s 4 v I 8 2
() g REdertes fem § |
(i) QF H TSN T fHeRT 37EE 2 |
(iii) gHI § TeI& YgH WAl B |
(iv) Tl ol &9 TEfed A hl IRE 2 |
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(a) ad (ii) M (iv) (b) e (i) 3T (iii)
() had () 3 (iv) (d) A (@) I (Gid)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C — Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12

1. Which one of the following Princely States initially opposed joining the
Indian Union ?
(a) Baroda (b) Hyderabad
(c) Mysore (d)  Gwalior

2. Which of the following are the common features for both, the Planning
Commission and NITI Aayog ?
(1) Both are non-constitutional bodies.
(ii))  Both have significant roles of states.
(iii) Both have the Prime Minister as chairperson.
(iv)  Both have the power to allocate funds.

Choose the correct options :
(a)  (i1) and (iv) only (b)  (i1) and (iii) only
(c) (i) and (iv) only (d) () and (iii) only
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AfIRad O ¥ A1 AT 1989 o ABHYT AT & TNUMHT & IR H T8l 737

(a) I U qed 9 urd & w9 H 39 |
(b)  =INA %e A TR 8 |

(c) ot f&g yam oft &4 |

(d) HeA AR Fgh foham T |

fr=fafgs @ @ w9 voifas ol S & TEe A= & e a@ off,
RTEeh! e STAYRIY ARV 5 1975 H TR o1 ?

(a) ARAR SE9

(b)  WRA™ B 9 (M)

(¢) WRAHE & g

(d)  FHTSETE 91

= @ oA fou T d — 5 & i AAfieReE (A) 3 g F HRT (R)

Afra frm T B | T HE H @ @ ufgy (R = fou mu foekeut

(a), (b), (c) 3 () ¥ & I & &4 H Tl fashed FHT |

SUFYT (A) : UG 4 HEWIRIT T SATqeh GLATY] et o o <K feam,
Afer it off yRa 7 W RA. & Affrasri= o +
fortrer fopam ot #ft. A A A, T Fedte) 0 ¥ $HR = e |

FRO(R): 3 GfeEl foow &9 @ Wy wiw w® oA B off iR
TTTY] STRh-FUS Uie YRl o TSR i aY a7t off |
(a) 3R (A) 3T HRU (R) T T & I SR (R), 3MheH (A) i
T ST T B |
(b) SRR (A) 3 SR (R) I WAl &, T SR (R), AHBAT (A) I
HE AT T37 el ¢ |
(c)  Ahe (A) WEl B, W=g T (R) Teid ¢ |
(d) AR (A) TAd 7, T RV (R) HaEl 3 |
Page 4 of 23




“®Pcollegebatch com

3. Which one of the following statements is not true about the result of
1989 Lok Sabha elections ?
(a)  Congress Party emerged as the largest party.
(b)  National Front formed the Government.
(c) V.P. Singh became the Prime Minister.

(d) Mandal Commission was appointed.

4, Which among the following political parties was not a part of the
Jayaprakash Narayan (JP) led peoples’ march to Parliament in 1975 ?
(a)  Bharatiya Jana Sangh
(b)  Communist Party of India (IM)
(c) Bharatiya Lok Dal
(d)  Socialist Party

5. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.
Assertion (A) : India pleaded with the superpowers for comprehensive

nuclear disarmament, yet India opposed the indefinite
extension of the NPT and also refused to sign the CTBT.

Reason (R): These treaties were selectively applicable to the
non-nuclear powers and legitimised the monopoly of the

five nuclear weapon powers.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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A= a1 e fou g & — foH wh il sfirhed (A) 991 gE Sl HRU (R) R

Afrd foram TRT B8 | 31 AT ol &9H 9 ulew IR 9 fer mu foeheut

(a), (b), (c) 3 () ¥ & I & &4 T Tl fashed FHT |

SHIT (4) :  feror iy & e | fafauan 1 wdie 2, O ot eferor widen
= fafie <o # T S ToHifdes gomeft ® |

SR (R) : g guETRl 7R el % arasg, 9 <fEr whrm g
ST TATehd s <hl STTERTETIA | TgUTH & |

(a) 3P (A) 3 RO (R) THI Tl & W SR (R), AR (A) hH
&l SIS hdl B |

(b)  HPAT (A) IR HR (R) THI F&l &, T HR (R), JAHHAT (A) hH
T AT TET Ll g |

(¢  39HIE (A) &l §, T SR (R) T4 2 |

(d) AR (A) TAd 7, T RV (R) HEl 3 |

¥R 3w ) T IR S R S af @ o gen 7@ R |

(a) AU

(b) i@

(¢) A
(d) YH

39 29 6 qgaE Hifve Rrmeh dard sttt e whrem S % @y o
7|

(a) SR
(b) W

(¢c)  STATCH

d) 9=

T1.ELT. IV SR 5 SR § 9 370 3R 35T o 3IHoH o AT 5 T,
2019 ! TST 9T H hia-a1 faess 1 fopam 2

(a) T SR IR qiEwe fagees
(b) T 3R IR GuR faere

(c) ¥ 3R IR Yred faeeh

(d) S 3R HEHR TR foeeeh
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Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : South Asia stands for diversity in every sense, even then

the various countries in South Asia have the same kind of
political system.

Reason (R): Despite many problems and limitations, all South Asian

(a)

(b)

(c)
(d)

countries share the aspiration for democracy.

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

Identify the country which is not landlocked.

(a)
(b)
(c)
(d)

Nepal

Sri Lanka
Afghanistan
Bhutan

Identify the country which shares its borders with most of the South
Asian countries.

(a)
(b)
(c)
(d)

Afghanistan
India
Bangladesh
Nepal

NDA IV government presented which Bill in Rajya Sabha on
5th August, 2019 for the abolition of Sections 370 and 35-A ?

(a)
(b)
(c)
(d)

Jammu and Kashmir Delimitation Bill
Jammu and Kashmir Reform Bill
Jammu and Kashmir Reorganization Bill

Jammu and Kashmir Abrogation Bill
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10. Tr=ffga & & ®F 1970 & <9 § 9qUl fava § 3= ggr-whifa o fore fSmier
o ?

(a) TIH UST (3THURT) HT HaAITSAT T THAY]

(b)  WRA-UTfRETH g
(c) Tomam g3

(d) IWEZREA Ig

o

11. f=afafea & @ wH-81 T S foem 1 32 787 2 ?
(a) U4 T Tl o stg qHH 311 oy faafa e
(b) HCH TSAl 61 Aiaftes il § geaaq T e
(c) T 3Ifyeh —Ea R fsaer fava &t women e
(d)  IMfd 9 & ! Sgrar ol

12. T=ffad i SIeshaaR Safedd HifT
(i) Tk I AT
(i) U = hT T
(iil) ~ SAHAH T T
(iv) = o Ffv =1 fsiee
gl forehed T -
(a) (i), (1), (iv), (iii)
(b)  (ii), Gv), (1), (i)
() (i), (iv), (1), (iii)
(d) (i), Gv), (iid), ()
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Which of the following was responsible for high inflation in the entire

world in the 1970s ?

(a)  The United States’ attack on Cambodia
(b)  The India-Pakistan War

(c) The Vietnam War

(d) The Arab-Israel War

Which one of the following statements is not an objective of BRICS ?
(a)  To distribute equal economic benefits among its member-states
(b)  Non-interference in the internal policies of member-states

(c) To establish a more equitable and fair world

(d) To promote peace and security

Arrange the following in chronological order :
(1) Establishment of SAARC
(ii)  Establishment of European Union

(1i1) Establishment of ASEAN

(iv)  Privatisation of agriculture in China

Choose the correct option :
() (i), (D), (iv), (iii)
(b) (i), (v), @), (i)
(c) (i), (v), (i), (ii1)

(d)  (@G1), Gv), (ii1), (@)
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EfEE
[=
Qs @
HEA AN hi Tl g1 THBIREI 1 Hemehd HhifT | 2x1=2
YA 3R &H o s G4l I Wed oHH Tl foheal &l Hehl 1 el ol
5'§||§IQ | 2x1=2
dHeITd IUTEA g0 Afd9Ted WehicH HHadTe o fehegl &l figr=i sl ISR
i | 9x1=2
1975 H =S 3MUTaehTd o AT H deshlci Tk ¢RI feu U foregl @ dehl
! IR HITT | 2x1=2
Hifa ma = fohdl §F g SR *1 3@ HINT | 2x1=2
aqd HIfeRd 99 o fohral 9 TORSAT o6 AW fAfEU | 4><é=2
@uE T

T o T 9 Wk & Hid o &9 A ATGHhAIE BT g 3T hl TgEar o
forgeiwor HifSw | 2x2=4

2fequr wfr o SIS <@ 3 WA o IREINes gre-el ol fagavo Hifsu | 4

2014 % FAEI & ¢ YA Ui § AW fhdl IR sgamal &1 i

ST | 4x1=4
TUem ¥ STermeaaTdl STeied o fohegl @ Sl sl ISR hIFT | 2x2=4
foreft 231 1 T W AeieontuT o Tehegl gl IHTEl okl ISR <hIfT | 2x2=4
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SECTION B
Evaluate any two recommendations of the Mandal Commission. 2x1=2

Analyse any two factors that strengthened relations between India and

Russia. 2x1=2

Highlight any two principles of Integral Humanism advocated by Deen
Dayal Upadhyaya. 2x1=2

Highlight any two arguments given by the then Government in support

of the Emergency declared in 1975. 2x1=2

State any two main functions of the NITI Aayog. 2x1=2

Name any four Republics of erstwhile USSR. 4x é =2
SECTION C

Analyse terrorism as a new source of threat to security with the help of

two examples. 2x2=4

Analyse the mutual relations between the smaller countries of South

Asia and India. 4
Describe any four changes in Indian politics after the 2014 elections. 4x1=4
Highlight any two reasons of the separatist movement in Mizoram. 2x2=4

Highlight any two effects of globalisation on the politics of a country.  2x2=4
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Qs ¥

24. WRA % T MU TSI WI-AFRE (758 13 W) # sR Al @), @), ©
aar (D) o g 3ifehd fopam o 8 | e & 8 IR % MR WS TS
UgIH HINT 3 0 IT-YIEdept H geh TE 1, AN I TS AR
- 9T gHfaT | foar wn gefaq s, i & 8 diferent % w90

fafeu - 4x1=4

TN hl T8 THEGRI | T |

. . TS hT A1
$I HH-gEI T 38R

(1)

(i)

(iii)

(iv)

() 98 TS T8 wadadr & 999 9@’ kel SaT o |

(i)  rEqfaa foee™ @ emaR W fAfta T |

(Gii) 98 TS fS@enl 1947 ° fawifora feram mam o |

(iv) 1952 # Tfdd 98l TS |
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In the given political outline map of India (on page 15), four States have
been marked as &), @), (© and (D). Identify these States on the basis of

the information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

4x1=4

Serial number of the
information used

Concerned alphabet
in the map

Name of the
State

@)

(ii)

(iii)

(iv)

(1) The State which was called ‘Madras’ at the time of Independence.

(ii))  The State formed on the basis of imbalanced development.

(iii) The State which was partitioned in 1947.

(iv)  The first State created in 1952.

Page 14 of 23
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Bt
el 397 dacT gieanaa aienfeal & /g 397 &7 24 & T T
8 Ax1=4
() 9 UST R 9 ek HI9-8 3 USY §9E T 9 2
(i) T H AgE HEAT TH el TSI 1 JAHH A F1 8 ?

(iii) IAUEUE fhg TSI 9 HIE HL SH™T TT & 2

(v) 39 Us¥ &1 W fafgu {59 7aeq yes 9 e o <9/ T 7 |

= feu U SEd 1 SAHYE TERH I 3T U MU Tl o I AT | 4x1=4

(i) IR T T g &1 qaY fohd T A B 2
(a) AR (b) IJOdE T=
(c) T (d) Torrd

(i) T T hred ffciiad § 9 foraeh IR H 7 2
(a) TS ATTHT
(b) AR THSAT i T T
(¢) T % T Ut |fge™ a1 o %]
(d) TR T § T
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24 : 4x1=4

(1) Which two States were created by dividing ‘Bombay’ State ?
(i1)  What is the present name of former ‘Madras’ State ?

(iii) Uttarakhand was carved out of which State ?

(iv) Name the State which was carved out of Madhya Pradesh.

25. Study the cartoon given below carefully and answer the questions that
follow. 4x1=4

(1) The above cartoon is related to which organistation ?
(a) ASEAN (b)  European Union
(c) SAARC (d)  BRICS

(i1))  The above cartoon is about which one of the following ?
(a) Global warming
(b) Failure to make a trade agreement
(¢) Failure to draft a common constitution

(d) Failure to protect the environment

59/3/2 Page 17 of 23 P.T.O.
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(iii)  hred ¥ Te@mn 7 faari 1 99 1 g B ?
(a) TS % e o
(b) TS hl Tehdl
(¢) TS hl ThaIdl

(d)  ETST Sl FEA

(iv) hTgd © Helled €13 shi €A1 fohd oy g8 off 2
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Fig: AT 397 FIT FIRETET GhTiaal & o7y ¥o7 qET 25 & T |

g: dx1=4
()  HRIA ST o dgd fhd T <hl T <Al 175 oft 2
(a) U 9REg
(b) ISR il TR T
(c) JUI TG

d I e agem
(i) Tfeeee |fer i T 1 fo g g 3 foe fopam e 2

(a) ot TuT= (b) fsred, v
(¢c) 74Teh, Tied d) s, s
(iii) = A AU AdTETn § gUR @H & fou fopm o & ‘got g’ i HAifa
JTTTS ?
(a) 1975 (b) 1977
(c) 1978 (d) 1979

(iv) IF-H 9 2N 1 G ATHAH & TEATIH GG o ?
(a)  semmE, wafyrn, fhfedia, iy it akde
(b)  SeMf3mEn, gofyrn, fefedta, erdds it 578
(c) gsMfsmn, fefordia, famp, ades it 573
) senfymEn, mafirn, fefadia, fauaam it asels

59/3/2 Page 18 of 23



“®Pcollegebatch com

(iii)) What does the circle of stars shown in the cartoon represent ?
(a) Member-states of the organisation
(b)  Unity of the organisation
(¢)  Success of the organisation

(d) Composition of the organisation

(iv) In which year was the organisation related to the cartoon

established ?
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4

(1) Which organisation was established under the Marshall Plan ?
(a) Council of Europe
(b) Organisation for European Economic Cooperation
(c) European Community

(d) European Economic Community

(ii)  Which two countries have resisted to adopt Maastricht Treaty ?
(a) Bulgaria, Romania (b) Britain, France
(c) Denmark, Sweden (d) Poland, Finland
(iii) China adopted the ‘open door’ policy to improve its economy in
which year ?
(a) 1975 (b) 1977
(¢c) 1978 (d 1979

(iv)  Which set of five countries were the founders of ASEAN ?
(a) Indonesia, Malaysia, Philippines, Singapore and Thailand
(b) Indonesia, Malaysia, Philippines, Thailand and Brunei
(¢) Indonesia, Philippines, Singapore, Thailand and Brunei
(d) Indonesia, Malaysia, Philippines, Vietnam and Thailand
59/3/2 Page 19 of 23 P.T.O.
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26. ffifgd @@ &1 wgEs 1eged Hife o for M gwl & IW
fetfe - 4x1=4

YT o 90 I At 3 TSR ToieT 9 HH H Hgwayel gftrest furg | ag fagw
i ft 9 3R I/ v k1 e fifa h1 =1 3R fsharaee W T8 yvE
BreT | 3eh! T Hifd & A 98 3299 9 — ST gud | 9T Audr 1S9
TEHT, T 3Rguedr ol sATU AT, 3R OF THRR & A1 faehm &1 | 98
3 Al I T[e-Fuerar it Hifq 1o L g T A|d o | A7 Tt oo o
$S TsHITdeh g IR g T i & ep1 A1 o1 foh WId sl SRl ©H
Y el ASciehl gl ITfgu Fifer 39 W 6l gfdssr diehad & fgamdt &

w9 H off |

() v fage Hifq w1 gea fmfa fefaled 5 @ o9 o 2
(a) .37, TSR (b)  HgTeHT TIeft
(¢c) SIOTEAA 488 (d) &R 9

i) F=faRes @ @ w01 yra $i foew fifd 1T R 2
(a) 319 f&ai <t & e
(b)  AShds I TR
()  IAH TR GATSAT I AN AT

(d) TR ST

(ifi)  Te-Fderar &1 31k B |
(a) T (b)  3TEEd&
(¢  guFETg d) foreht oItk e & & Je

(iv) ToR-eRl W1 o foh WRA Wi AWRI o Aqcd el ©H o A1 3AMH
EEERRCIRCII

(a) ORI 9 (b) A 9
(c) .3, 3Teght GOk
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26. Read the following passage carefully and answer the questions that
follow : 4x1=4

The first Prime Minister of India played a crucial role in setting the
national agenda. He was foreign minister also and exercised profound
influence in the formulation and implementation of India’s foreign
policy. The three major objectives of his foreign policy were to preserve
the hard-earned sovereignty, protect territorial integrity and promote
rapid economic development. He wished to achieve these objectives
through the strategy of non-alignment. There were parties and groups in
the country that believed that India should be more friendly with the bloc
led by the US because that bloc claimed to be pro-democracy.

(1) Who was the main architect of India’s foreign policy ?
(a) B.R. Ambedkar (b) Mahatma Gandhi

(¢) Jawaharlal Nehru (d) Sardar Patel

(i1))  Which one of the following is an objective of India’s foreign
policy ?
(a) To pursue its national interest
(b) To preserve democracy
(¢) To strengthen its Armed forces

(d) To become a superpower

(iii) Non-alignment means
(a) toremain neutral (b) non-interference

(¢) toremain isolated (d) not joining any power bloc

(iv)  Who believed that India should be more friendly with the bloc led

by the US ?
(a) Bharatiya Jana Sangh (b) Swatantra Party
(c) B.R. Ambedkar (d) All of the above
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SECTION E

Highlight any four environmental concerns that have become
1

important in global politics. 4x1 3 =6
OR

Highlight any four economic consequences of globalisation. 4x1 é =6

Examine any four criteria proposed for new members of the

UN Security Council. 4x1 é =6
OR

Analyse any four steps suggested by the heads of the member

states in 2005 to make the United Nations more relevant in the

changing context. 4x1 é =6

“The dominance of the Congress Party in the first three general

elections did not adversely affect the democratic nature of Indian

politics.” Support the statement with any three arguments. 3x2=6
OR

Analyse any four reasons responsible for the popularity of Indira

Gandhi in the 1970s. 41 é -6

Describe any three factors that make most of the former Soviet

Republics prone to conflicts and threats. 3x2=6
OR

Explain any three reasons that forced Mikhail Gorbachev to

initiate reforms in the Soviet Union. 3Ix2=6
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